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Prove that :
5tan 0 — 10 tan> 6 + tan> ©
tan 50 = 5 7
1-10tan“0 + 5tan" O
fag =it & ‘
Stan ® —10 tan° 0 + tan° 0
tan 50 =

1-10tan’ @ + 5 tan* 0
If o, B, v be the roots of the equation :
x3—px2+q5c—r=0,

find the values of :

(@) 2a2B2

®) Zazﬁ.

AT o, By BT 2 - p? + g~ r =0 % A §
W frefafes 1 @ W@ wifg :I |

@ Ea2ﬁ2

®) ZOL_ZB.
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Find the rank of the matrix :

Solve the system of eqﬁations :

i
—

x -3y +z

2x +y -4z = -1

I

6x—.7y+8z 7
Y, Wil % Frefafen BT AT Fi

x — 3y +z = 1y

2 +y - 4z = -1

il
~J

6x — 7y + 8
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Prove that the uniop of an’ arbitrary family of open sets is
opeh.
fas #ifve & 7= ay=dl & S @ @)
dg oft oA
Shbw that the sequence {S,} defined by

S, = r" converges to 0 when |} < 1.

fers Fif % orga (5,5, = 7 1% 0 W ror
@ ¥ AR [ < 1.

Test for convergence the series
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8. Examine the continuity of the function defined by |
A : .

—x3,' x<0

f(x)=1{ 5x -4, 0<x<l

3
4x° - 3x, x>1

at x = 0 and x = 1.

x=0dx=1R, B fF Faaai & fag wdgm
HifT .

—-x3, x<0
f(x)=1< 5x -4, 0<x<1

4x’ - 3x, x>1"
9. - Show that the function f defined as
M) =k-21+kx+2, Vre R

is not differentiable at the points x = -2 and x = 2.

WW%Wﬂx)=Lx—l2|+|x+2‘.|, Vx € R
ﬁs@aﬁ)ﬁ—zax:vzm fadgeia =€ |
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11.

12.

( 6 )

Find -

lim' 1 - cos x°

x0{ x%sin x* |
s

) 1- cos x°

fim| =7 |-

x>0 x“sin x
Ify = ¢ °°S_lx, then show that :
(A = Wy - @n + Dy — (2 + mdy, =

Ay = e ol F weia F

(A = Dy = @n + Dy — (P + mdy, =
X+ y
If z = sin’! , then prove that :
x+y :
x%+ 9 2tan z
ox yay
Xty
‘Tﬁ{ z = sin”
x+y
W fag wifse e

x%+ %—2tan z
ox yay :
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. 14,

15.

16.
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Prove that :

1+xx2 <t <x x>0
fag =ifsg &

T < tan” (x) < x, x > 0.

Find the minimum and maximum values of the function
f(x)=2x3—.15x2+36x+10 Vre R

HIY

S fx) =23 - 15x2 +36x + 10 VxeR

Trace the curve :

2@ - D) = A
yz(az—x2)=x4.

Prove that two circles which pass through (0, %1) and

(0, —a) and touch the line y = mx + ¢ will cut orthogonally

if 2 = a2 + m). [
LPTO.
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fag T 5 0, 0 9 (0, 0 & T A ik T
Vo mes o wE W AR A g
ﬁéﬁéﬁaﬁé=a2(z+m2).

A plane passes through a fixed point (3, -2, 5). Show, that

the locus of the foot of the perpendicular to it from the drigin

isthespherex2+yz+22—3x+2y—52=0. |

TH EHA, ﬁ?ﬁlﬁd'-g(&—z,s)‘e%aﬁaﬁm
¥ fos W B Sqm 3 T videm B
® Yoy (") = e §o.

X2+ 32+ 22 - 3x + 2y - 52 =0,

3 22 §A 27 X .
If A=3%" +2x°) - xyzk and ¢ = 3x2 - yz, find A = V¢

at point (-1, I, -2).

- Com A A
B A=3xy2i+2xy3j—x2yzk,¢#3x2—yz§T‘ﬁ A=V,

w1, 1, 2) W oTw wifeu



